
1HSWXQH
7XIW�JDXJH �����ORRS�SLOH

3LOHFRPSRVLWLRQ �����3$�6'1�(FRQ\O

3ULPDU\�%DFNLQJ 1RQ�:RYHQ

6HFRQGDU\�EDFNLQJ $%

:LGWK ����FP s���

3LOH�KHLJKW ��PP

3LOH�'HQVLW\ ������JU�FP�

3LOH�:HLJKW ����JU�P�

7RWDO�ZHLJKW �����JU�P� s����

7RWDO�+HLJKW ��PP

1XPEHU�RI�NQRWV ��������P� �����������

8VH�$UHD ([WUHP���+HDY\�����

*87�1U� %��%���'�*87

6RXQG�,QVXODWLRQ &D�����G%

7KHUPDO�UHVLVWDQFH &D������0t.:

/LJKW�IDVWQHVV ೟��

:HDUHELOLW\ ೟��

:DWHU�IDVWQHVV ೟��

)LUH�&ODVLILFDWLRQ &IO�6�������&35�����

$E]�1U� =������������

3LFWXUHV ZZZ�FRQGRUFRQWUDFW�FRP

)ORRUV\PEROV

%F?*ACJTM82
&HUWLILFDWHV


